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x |0 |25 (30 |50

fx) 4|6 |8 |12

4. The values of a continuous function f for selected values of x are given in the table above. What is the value of
50
the left Riemann sum approximation to J' f(x)dx using the subintervals [0, 25], [25, 30], and [30, 50]?

A) 290 (B) 360 (C) 380 (D) 390 (E) 430
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5. Let f be the function defined above, where ¢ is a constant. For what value of c, if any, is f continuous
atx=27

(A) 2 m ©) 9 D) 4= -4 (E) There is no such value of c.
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6. Which of the following is an antiderivative of 3sec’x +27?

(A) 3tanx (B) 3tan x + 2x (C) 3sec x + 2x (D) sec’x +2x (E) 6sec’xtan x
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7. If f(x) = x*> —4 and g is a differentiable function of x{ what is the derivative of f (g(x))’
(A) 2g(x) (B) 2g’'(x) (C) 2xg’(x) ) 2g(x)g"(x) (E) 2g(x) -4
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g(x) is the solution to the
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differential equation with the initial conditior.hen
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8. Shown above is a slope field for the differential equation

(E) 3
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(B) -2

(A) —ee



9. If £”(x) = x(x + 2)*, then the graph of f is concave up for
e
A) x<0

T £\ >0

D) x<-2and x>0
(E) all real numbers
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10.If y =sinxcosx, thenat x =
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(A) O (B) 3 D) 1 (E) nonexistent
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